vAAyar FAANANH /-2 | DN8-DN50 | CLASS 600

Floating Ball 3 Piece Up to [l 538°C (1000°F) | Ml 650°C (1200°F)

Valve dimensions . 5 |

H
D C
Preparation
_ljg Ball port for actuation
1
. A . W 1=

without nut with nut

) Stem flats
M & show valve

Q
=
|
1
|
1
I
1
I
=

ball position
: ;
TxL threadl ! <--- N thread
FPCD

Valve Face To Face sizes are according to Habonim catalog data only, for Extended-weald/Flanged/Tri-clamp end see Face To Face sizes page.

Full port | Unit Ll A
Port | Welded |Threaded
DLRERDNERIEOE mm 11.15 140.60| 66.00 20.60181.40 190.30 214.40/150.00| 46.00  5.54 : Y UNE 6.65 (FO3) | 36.00 M5x10 1.35 6.9
1" 1Z9% 5 inch 044 554 260 081 714 749 844 591 181 022 0.26 142 297 8.0
DN20 | DN15 mm 1430 14695 70.60 24.55 183.40/192.30/21640/150.00 52.10| 5.54 © Y UNE 6.65 (FO3) | 36.00 M5x10 1.55 10
E74 174 inch 0.56 579 278 097 722 757 852 591 205 022 0.26 142 341 12
DN25 | DN20 mm | 20.65 16875 94.00 31.75190.40 207.90/231.40 230.00 60.50| 7.54 740 (FO4)  42.00 2.85 28
1" EZ4 inch 0.81 6.64 3700 125 750 819 911 906/ 238/ 030 eUNE 0.29 1.65 Mox10 6.27 32
DN32 | DN25 mm 2550 179.25 10850 41.25195.40/212.90/236.40/230.00 69.00| 7.54 - 16" UNF 740 (FO4)  42.00 M5x10 355 49
16" 1" inch 1.00 7.06 427/ 162 769 838 931 906 272 030 0.29 1.65 7.81 57
DN40 | DN32 mm  31.80 18940 116.00| 48.40 19540 224.90 24840 237.00| 79.20' 8.71 16" UNF 8.50/ (FO5) | 50.00 M6x12 4.50 69
1" 1" inch 1.25 746 457/ 191 769 885 978 933 312 034 033 1.97 9.90 80
DN50 DN40 mm  38.10 200.30 128.00| 56.301200.40|229.90253.40237.00| 90.70' 8.71 < 16 UNF 8.50/ (FO5) | 50.00 M6x12 6.00 | 102
2" 17" inch 1.50 7.89 504 222 789 905 998 933 357 034 033 1.97 13.20 | 118

176 | (EDYHABONIM | HIGH TEMP. VALVES




vayar PaayANE v.-2" | DN8-DN50 | CLASS 600 & IIII

Floating Ball 3 Piece Up to [l 538°C (1000°F) | Ml 650°C (1200°F)

Components & materials

W Design

Item Description : Item Description Material specification Qty.

1
2A

Body Acc. Ordering Code
Downstream end | Acc. Ordering Code
Upstream end Acc. Ordering Code
Ball Acc. Ordering Code
Stem Acc. Ordering Code
Downstream seat | Acc. Ordering Code
Upstream seat Acc. Ordering Code A Sleeve PVC

Upstream seat Inconel 718 1£:3 Body bolts S. Steel
spring Py S. Steel
Body seal Graphite 2 vk} Tag (not shown) . Steel

Seat seal Graphite 1 PJ8 8 Bonnet seal Graphite
Stem thrust seal | A479 316L, Hardended with LTPN, 2 "L Stem Bearing S Steel

i Disc spring S. Steel
P2 Stem nut S. Steel
1Je3 = Locking clip S. Steel
258 Handle S. Steel
153 Serrated washer |, Steel
([ Handle nut S. Steel

[ NG N N N N U ' T [ P SN SN BRI BRI NG

B637 N07718 Inconel 718
) I3 Bonnet S. Steel
Stop pin S. Steel 1
. »J:30 Bonnet bolts S. Steel
otem sea Graphite ! ¥ Repair kit components
Follower S. Steel 1 P P

HIGH TEMP. VALVES | K‘DHABOMM | 177




vaiyar PaiyANE 2/.m-8" | DN65-DN200 | CLASS 600

Floating Ball 3 Piece Up to [l 538°C (1000°F) | Ml 650°C (1200°F)

Valve dimensions

Preparation
@ Ball port for actuation

_ I

Stem grooves
show valve
Q. s M ball position s,

N thread -- N thread -

TxL thread
FPCD DD

Square

Valve Face To Face sizes are according to Habonim catalog data only, for Extended-weald/Flanged/Tri-clamp end see Face To Face sizes page.

A ;
:(t’crlt Full port) Unit :Z'I':i Welded Threaded 8 € T vleﬁst
DN65 |DN50 Ml 511200016000, 75 23990 28640 32640 401 1501890 1590/ 2270/ 1714 | 1670 (F10) 10200 192 208
2y 2" inch 201 787 630 295 944 1128 1285 1579 591 074 063 089 UNS2A | og6 402 M1oe0 42 241
DIEDINERS mm | 6375 28500] 21300 10880] 26650/ 31300/ 35350/ 60000 191,50/ 1890|1590/ 2270, 1714 | 1670 (F10)| 10200 300 300
3" VA inch | 251 11220 839 428 1049 1232 1392 2362 754 074 063 089 UNS2A | 066 402 M1oe0 660 348
DN100 DN80 Nl 80| 356 - 110/ 27890| 34800, - - 210/ 2845 23753520 1112 | 2620 (F12)| 12500 - 460 615
4" 3" inch 315 1402 - 433 1098 1370, - - 827 112 094 139 UNF2A | 103 492 1012 713
DN150 | DN100 Sy IR RVl VI 135/ 29480 36400 - - 260/ 2845 23753520 1112 | 2620/ (F12)| 12500 V1200 680 872
6" 4" inch 394 1575 - 531 1161 1433 - -1 1024 1120 094 139 UNF2A | 903 492 1496 1012
DIPIOIIREN] mm | 150, 490 - 190/ 39720/ 51000, - - 360/ 3592/ 35924650 ong | 4000 (F14)| 14000 1600 1480/ 1552
8" 6" inch =~ 591 1929 - 748 1564 2008 - - 1417) 141 141 183 UN2A | 957 551 3256/ 1800
DIPOI) mm 2000 500 - 275/ 49900 65400 - - 470 4590| 4590 5500 7348 | 5000 (F16)| 16500 3800/ 1552
8" inch 787 1969 - | 1083 1965 2575 - - 1850 181 181 217 UN2A | q97 650 M0G0 8360 1800

178 | (EDHABONIM | HIGH TEMP. VALVES




g ) e
vaar asAN I 218" | DN65-DN200 | CLASS 600 I 8

Floating Ball 3 Piece Up to [l 538°C (1000°F) | Ml 650°C (1200°F)

Components & materials

W Design

Item Description Material specification Item Description Material specification

1 Body Acc. Ordering Code 1 (P2 Stem nut S. Steel 1
7.\ Downstream end | Acc. Ordering Code 1 (Jci Tab lock washer S, Steel 1
Upstream end Acc. Ordering Code 1 Handle S. Steel 1
Ball Acc. Ordering Code 1 Stop plate S. Steel 1
Stem Acc. Ordering Code 1 Wrench head S. Steel 1
Downstream seat | Acc. Ordering Code 1 Wrench bolt S. Steel 1
Upstream seat Acc. Ordering Code 1 Sleeve PVC 1
1

Upstream seat Inconel 718 Body bolts S. Steel 20-32

spring - S. Steel 1
Body seal Graph{te 2 Tag (not shown)  |S. Steel 1
Seat seal Graphite ! Bonnet seal S. Steel 1
Stem thrust seal | A479 316L, Hardended with LTPN, 2 »
B637 N07718 Inconel 718 stem Bearing |5 Steel !

) Bonnet S. Steel 1

Stop pin S. Steel 1
. Bonnet bolts S. Steel 4-6
Stem seal Graphite 1 —
Fol S Steel . ¥ Repair kit components
(? ower -otee ** Gear operator should be used for size 4" DN100 and above

Disc spring S. Steel 2 (handle components are not included)

HIGH TEMP.VALVES | €(BDHABONIM | 179




